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N.B.: (1) Attempt all questions.
(2) Figures to the right indicate full marks.

1. Answer the following ‘questions in one of two sentences — 20
(@) Whatdoes the letter ‘S” and ‘P’ denote in the moods of Categrorical Syllogism ?

f (b) Define Reduction of figures of Categorical Sylliogism.
(c) State the rule of Association.’ ; :
(d) Give the symbolic.form of simple constructive Dilemma with concrete example.
= (e) Define Hypothesis. ¥
. ' C(f) What do you ‘mean by Respondent Superior ?
(g) What is crucial experiment ? : ,
(h) What is the fallacy of post hoc ergo. propter hoc ?
(i) What is the function of middle term in Categorical Syllogism ?
) State the rules Modus tollendo Ponens and Modus Ponendo tollens.

2. Write short notes on any four — : : ‘ : 20
(@) The Dictum or Canon of Categorical Syllogism.
(b)  Lack of )V,o.cab,u‘lary as impediment to good reasoning.
(c) Plurality of Causes. | :
(d) - Bob Brown's Case. : :
(e) -Reduce Fesapo and Fresison directly.
() Fallacy of Accident and Converse Accident,

3. Answer the following (any two) :—w - " ' 12

(a) Test the validity of the following arguments. Give reasons. Identify figure —
(i) No men are perfect.
All ' men are rational.
- Some rational beings are not perfect.

(ii)  All metals are elements.
No compounds are elements.
No compounds are metals.

(iii) Whatever thinks, exists.
Matter does not think.
Matter does not exist.

(b) Reduce indirectly the following Categorical Syllogism :—

All horses are quadrupeds.
Some animals are not quadrupeds.
Some animals are not horses,
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(c) Identify the fallacy and give reasons :— <
(i) To prick knife in somebody's stomach is to commit a crime. Therefore,
sergeons are criminal, since they prick knife in patient's stomach
for doing surgery.
(i) Seven is an odd number.
Three and four are Seven.
Therefore, three and four are odd numbers.
(iii) - Why are white men more intelligent than black men ?
4. Answer Q. No. 6 and any three from Q. Nos. 1 to 5 :— ' 48

(1) (a) What is the difference between Categorical Syllogism and a pure
Hypothetical Syllogism ?
(b) Explain any two general rules of Categorical Syllogisms with examples.

(2) Explain the following with reference to Practical Ethics by Peter Singer \—
(a) Equality and genetic diversity.
(b) Oskar Schindler's Case.

(3) Explain the following :—
(a) Expressive use of language.
(b) Emotively neutral words.
(c) Disagreement in attitude.

(4) Bring out the significance of hypothetics deductive method in law.
(5) Explain the significance of scientific notion of cause in law.
(6) Construct a complex constructive Dilemma, Rebut and Refute it.
(a) If aman works effeciently, then he will promoted and if he is sincere,
he will be appreciated.

S
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v (1) Attempt all questions as directed.
S 2) Figures to the right indicate full marks.
» -
Alterupt the following questions in not more than two or three sentences :— 20
(a) Define the Law of Excluded Middle. Name the other two laws of thought.
(b) Identify the following inference- ““The moon is not a star hence the orbit ofthe
moon is not the orbit a star.” [s it valid ?
(¢) Give any one definition of Logic.
(d) “Manmohan Singh is the present Prime Minister,” Identify the proposition as
per traditional and modern logic.
. (e) Identify the following inference and state whether it is valid. ““A s B’s aunt.
Hence B is A’s neice.
(f) Define “industry” as per “The Industrial Disputes Act.”
(&) Define Connotation. Name the three senses in which the word “Connotation™
is used.
(h) State two differences between inductive and deductive reasoning.
~ (1) State any four purposes of a definition.

(J) Define physical division. Give an example.

2. Write notes on any four of the following (10-12 sentences) :—
(a) Public nuisance 20
(b)  Features of induction by simple enumeration
(c) Tworules and fallacies of logical division
(d) Proposition and sentence
(e) Inference and implication
(f)  Ostensive and Extensive definitions.

Solve any two sub questions : A, B, C.
(A) (i) Reduce the following sentences to logical form and state whether they 4
are A,E,TorO propositions :—
(1)  Students always like to do well in thejr examinations.
(2) Afew lawyers are very successful.,
(3)  Notall roads were wel] maintained.
(4)  Neverare rights separate from duties
(ii)  Using quantifiers and the given notation, symbolise the following general 2
propositions :—
(F)  Most politicians have unaccounted money (Px, Mx)
(2)  All great poets are creative (Px, Cx)

(B) (i) Identify, symbolise and construct a truth table for the following 3
proposition :—
Ifand only if voters are wel] informed, democracy will be successful. 3
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(11)  Identify the following simple propositions as per modern logicians.
(1) Shakespeare was a playwright
(2)  Thedistance between Mumbai and Pune is 150 kms.
(3) Thenovel was interesting.

(1) Identify the following modern definitions giving reasons for your

answers :
(1) Thatanimal is a leopard

(2)  According to Plato, “Justice is the interest of the stronger.”

(3)  “Tobe caught between the devil and the deep blue sea”

means to be faced with two equally difficult choices.
(i1) Identify the fallacies in the following logical divisions, giving reasons
for your answers :

(1) Human beings into tall, short, dark, fair, efficient and
inefficient

(2)  Criminals into thieves, dacoits and murderers

(3)  Living beings into religious and irreligious.

4. Question ‘f’ is compulsory. Of the remaining attempt any three questions :—

(a)

()

Analyse the kinds of categorical propositions in traditional logic. Define
“distribution of a term” and show its application to categorical propositions
with the helpof Venn diagrams and suitable examples.
What is the meant by “per genus et differentiam definition.” State the rules
and examine the fallacies of per genus it differentiam definitions with
appropriate examples.
Examine the relevance of the following to the field of law :—

(1) Analogical Reasoning

(1) Inductive and Deductive Reasoning .
Define “Immediate inference” and ““opposition of propositions.”’ Discuss in
detail, inference by opposition with the help of the square of opposition.

Distinguish between “Simple” and “Compound” propositions in modern logic.
Discuss the classification of simple propostions in modern logic.
Do as directed :— :
(1) State the obverse and converse of *No lcopards are spotied
animals
(i1)  State the obverse and converse of “Some fears are not irrational
feelings.”
State the sub-contrary and sub-alternant of “Some athletes are
not Olympic Champions.”
(1v)  State the contrary and contradictory of “No shark is that which
lives in fresh water.”
(v)  Given that “Tibet is a mountainous country® is a true proposition,
state its logical opposite along with the truth value. '
(vi)  Given that “Some scholars are good teachers™ is a true proposition,
name its relation and truth value to the following propositions :
Some scholars are not good teachers, No scholars are good teachers.

(111)
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1) Attempt all questions as directed.
(2) Figures to the right indicate full marks.

T sempt the {ollowing questions in not more than two sentences - 20
(2) Define "the law of identity". Name the other two laws of thought.
(b) Define induction by simple enumeration.
(c) Define "truth" and "validity”.
(d) State two differences between "constituents" and "components”.
(¢) Identify the following inference and test its validity, giving reasons.
"A pigmy is a man. Hence a small pigmy is a small man.”

N\ (f) What is meant by "total disablement” in labour law. 4
“  (g) Draw inferences by converge relation from the following premises :-
'A is the lawyer of B' and "Aristotle was the teacher of Alexander”.
. (h) What is meant by denotation of a term ? Do imaginary objects have denotation ?
(1) Define immediate inference and name the two main forms of immediate inference.
(i) When is a patient said to be "terminally ill".
7. Write short notes on any two of the following (10 to 12 sentences) :— 20

e

(S

(a) Law of Identity ‘

(b) Contrary and Contradictory opposition

(c) Subjective and objective connotation

(d) Private Nuisance

(e) Lexical and stipulative definition

(f) Class Membership and Relational Propositions.

. Attempt any two questions from a, b, ¢ :- 12

~

are imperfect”" and "No human beings are perfect”.
i) With me help of quantifiers symbolise the following general propositions.
"Few actors are modest." (Ax, Mx) "A few actors are punctual” (Ax, Px).
(iii) Give an example of particular affirmative and particular negative
propositions and illustrate them with the help of Venn diagrams.

'¥Q‘ii) Name the terms distributed in the following propositions. "All human beings

(b) () Construct a truth tables for the following propositions —
"He is rich and influential”.
(ii) Give an example each for the following simple propositions in the modern
scheme —
subjectless and subject predicate proposition.
(iii) Reduce the following sentence to the appropriate logical form and state the
kind of categorical proposition.
"Many children are innocent" and "Artists are never uncreative".
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(¢)

Identify the fallacies in the following definitions and divisions according tc
traditional logicians, giving ‘reasons for your answers.
(i) Taxis are means of transport ;
(i) A judge performs the functions of a Jjudge
(1ii) Indians into rich, poor, healthy and tal]
(iv) Europeans into Englishmen, French, Spanish and Italians,

4. Question T is compulsory. Of the remaining attempt any three questions.

(a)

(b)

Define "Categorieal proposition” and "Copula”. Discuss the four-fold
classification of categorical propositions.

Discuss the purposes of definition, Why are definitions relative ?

A
State the conditions of a good analogy. Illustrate your answer. Is analogy useful
in the field of law ?
Define "education" explain the rules of obversion giving appropriate examples.
What is meant by material obversion ? Explain with examples,
Explain the nature of logic.
OR
Explain the distinction between inductive and deductive arguments and their use
in courts of law.
Do as directed —
(i) The converse of “Some graduates are not employed".
(i1) The contradictory of "Some artists are unlucky".
(iii) The logical opposite of "Ancient India is country which was a seat
of learning”.
(iv) The relation by opposition between "All businessmen are. shrewd" and
"No businessmen are shrewd". :
(v) The converse of "All great scientists are creative",

(vi) Given that "Some Indians are doctors" is true, what will be the sub-
contrary and its truth valye,

(vii) What is sub-alternant of the proposition "some flies are insects"
(viii) The converse of "No virtuous man is addicted to drugs”.

(ix) State the sub-alternate, contrary and contradictory of the following
proposition :—
"All planets are those that revolve round the sun."

12

12
12

12

12
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N.B.: (1) Attempt all questions.
(2) Figures to the right indicate full marks.

1. Attempt the following questions in two or three sehtences'only 20

(a) Write traditional and modern definition of logic.

(b) What is deductive inference? Give example.
(c) What are the kinds of words? Which words cannot become term?

(d) Write the proposition in which both the terms are distributac:

(¢) What are the three senses in which the term connotation is used?

() Define the law of contradiction, ' : : :

() Identify the kinds of inference involved in the following example.

- Heat expands bodies. Hence cold contracts them.

(h)  Define ‘fraud’ as per the Indian Contract Act. "
(i) What is induction? Define Primary induction.
() Define partial disablement. State its kinds

2. Write short notes on any four of the following : (10-12 sentences) 20
' (a) Truth and validity '
(b) Proposition and Judgment
(c) Nuisance
(d) Analogy and law
(e) Quality and quantity of proposition
(f) Simple enumeration

3. Attempt any two questions from a, b, c. ' : 1!
(a) Identify, Symbelize and then construct the truth table for the following
propositions. '
(1) Rajesh is sincere student and he attends lectures regularly.
K (i) Irand only if you take the medicine, the disease will be cured
(b) Using the Quantifiers and given notation symbolize the following
propositions. -
(i) Politicians are always ambitious. (Px, Ax)
(i) Mostly educated persons are aware about political system.(Ex, Px)
(ili) Some men are not lucky (Mx, L) o B

, [TURN OVER
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(c) State whether given statement is true or false with reason.
(1) That animal is elephant.- This is ostensive definition. -
-(i1) Bird means Parrot, Sparrow, and Crow. -This is biverbal definition.
(iii) ~ “Abute means diminish” is an example of lexical definition.

4. Question ‘f” is compulsory of the femaining attempt any three questions :
(a) Define logic. Discuss its nature scope and utility in law. ‘
(b) Whatis meant by opposition of propositions? Explain its forms and truth value.
(c) Whatisreal definition and nominal definition? Explain the purposes of definition.
(d) What is the aim of the modern classification of propesition? Explain the
- kinds of compound propositions? : ;
(¢) Whatis meant by logical division? Discuss the all types of divisions with examples.
(f) ‘Do as directed. _ I
(i) A few writers are teachers. (State Cerniradictory)
(ii) - Girls always obey their parents. ( State contrary)
(iii)- Politicians sometimes speak true. (State Subcontrary)
(iv) Ideal teachers never involve ir politics. (Do conversion)
(v) Singers do not eat oily food. (Do obversion) ' :
(vi) Any member of assembly can attend the meeting. (Do Conversiomn).
(vii) The logical opposite of “Ancient India is a country which was a
. seat of learning”.
(viii) The Converse of “ No virtuous man is addicted to drugs”.
(ix) The contradictery of “some artists are unlucky™. i
(x) State the sub-alternate, contrary and contradictory of the following
propotion. :- : _ : '
“All planets are those that revolve round the sun”,

FN-Con. 4995-15,
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N.B.: (1) Attempt al! questions. , — /g
(2) Figures to the right indicate full marks. | ‘
1. Attempt the following questions in two to three sentences only :- 20
(a) Draw Venn diagrams for the following propositions "All judges
are lawyers" and "Some frees are evergreen”. ‘
(b) Draw the square of opposition of propositions.
. (©) - Give an example of "division by dichotomy™.
(d) "If congress wins the elections, then Rahul Gandhi may become
the Prime Minister." Identify and symbolise the above compound
proposition. ‘
(e) Use quantifiersto symbolise the following propositions "All schools
Eaai must have a big playground" (Sx, Px) "Many schools have a holiday
:L‘\-;, to-day." (Sx, Hx) ,
(D) . Define - "Public nuisance" as per the law of torts.
(g) State the three laws of thought.
(h)  Give the converse relation of "A is the husband of B" and "X is
taller than Y".
(1) Givethe material obverse of "Heat expands metals” and "Knowledge
1S power".
(G) Give any one definition 6f "logic".
2. Write short notes on any four of the following :- (10-12 sentences) 20
(@) Features of a Good Analogy.
(b) Physical and Metaphysical Division.
(¢) Subjective and Objective Connotation.
(d) Features of simple enumeration. i
(e) Class membership propositions.
(®) . Nature of logic. (
P ;
» 3. Attempt any two questions from a,bandc:- : 12
(a) Reduce the following sentences to logical form and identify the kind of
proposition as per traditional logic :-
(1) . Every student must attend lectures.
(i) Many flowers are colourful.
(iif) Few children play in this park.
(iv) Rights can never be separated from duties.
[ TURN OVER
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(b) (1) Identify the following compound porposition, symbolise it and
construct a truth table for it. "The student is both mtelhgent and
tall."

(ii) Identify the following snnple propositions and symbohse them as

“per modern logic :-

~ (a) The book is interesting.

(b) Bhagat Singh was a freedom fighter.
(c) The chalk is on the table. -

(c) Identify the following modern definitions :-

(i) Musical instruments into violens, guitars, drums flutes, etc.
(ii) To leap means to jump.
(iii) That animal is a lion. .
(iv) According to Marshall "Rent is income derived from free gifts of
nature". '
(v) A camera is an apparatus used for photography.
(vi) Flowers into roses, lotuses," daffodils, asters, etc.

Question 'f' is compulsory of the remaing attempt any three questlons -

(a)

(b)
(©)

@

(e)

®

What, according to traditional logicians, are the principles of quality and
quantity ? Explain the fourfold classification as per traditional loglc
What is a definition ? Explain in detail the purposes of a definition.
Define - "logical d1v1s1on" State and explain the tules and fallacies of loglcal
division. :
Define analogy and explam the conditions of a good analogy How is it used
in legal matters ?
Explain the following ‘oglcal concepts :-

(i) Form and content

(i) Circular, Figurative, Negative fallacies in definition.
Do as directed :-

(i) State the sub-contrary and contradmtory of "Some students are not

attentive in class". _
(i) State the sub-alternate and contray of "No dreams are real".

(iii) Statethe contradictory and contrary of "All crimes are punishable".
(iv) - State the obverse and converse of "No man are perfect".
(v) What is the relation of "Some ‘mountains are snow clad" to "Some
' mountains’are not snow clad" and "All mountains are snow-clad".’
(As per square of opposition)
(vi) Does the proposmon have a converse ? Some apples are not red.

Con. 2606-14.
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N.B.: (1) Attempt all questions.
(2) Figures to the right indicate full marks.
1. Answer the following questions in not more than two sentences - 20
(a)  What is inference by converse Relation ? Give an example :
(b) What is meant by 'definiendum' and 'definiens’ ?
(c) = What is Primary Induction ?
(d) Give the legal definitions of 'terminally ill' and 'medical intervention'.
(e) State the-law of 'contradiction' and the law of 'Excluded Middle'.
() What is conversion per accidens ? '
(g) Name the kinds of ‘connotation s
(h) Name the kinds of compound propositions as per mooem Logic
. v (i) Define 'term'. Can all words be terms ?
G) Define 'nuisance’ as in the law of torts and name its kinds. h
2. Write short notes on any four of the following :— o 20
(a) Strong and weak disjunction
(b) Misrepresentation or Mistake as per Indian Contract Act
(c) Analogical inference A
(d) Constituents and components
(¢)  Subaltern opposition of propo_l tions
® Positive and Negative Terms.
3. Solve any two sub-questions : A,B, or C: 12

(@ (i) . Symbolize with guantifiers, the following general propositions.
’ o (a) All judges are highly experienced. (Jx, Ex)

(b). = ‘Several laws have loop holes (Lx, hx)

(¢) Never is a rose black. (Rx, Bx)
Identisy the relation of the second proposition to the first proposition
in the following immediate inferences.

(a) - Ais the doctor of B. Therefore B is the patient of A.

(b) Life is a misery. Therefore death is happiness.

(c) Artose is a flower. Therefore an orange rose is an orange

flower.

s | (ii)
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(i) Identify and symbolize the following simple propositions as per
modern logicians :
(a)  Aaditis is a patient of Dr. Aasha
 (b)  Prashant is a soldier
(¢)  Sushant is clever. »
(i1) Identify, symbolise and construct a truth-table for the follovzing :
'If you fast, you will feel weak'. .

(1)  Identify the fallacies of per genus et differentiam definition in the
following examples. - _
{a)  Thinking is the heart .of logic
(b) Wisdom is avoidance of folly
(¢)  The teacher is-one who teaches.
(i) Are the following divisions logically valid ? Give reasons.
(@) Living beings are divided inio moral and immoral.
(b) A house into bed-room, %all and kitchen
(¢)  Colleges into aided, vnaided, medical and engineering.

4. Question 'f' is compulsory. Of the remaining atgeinfpt any three questions :—

()
(b)
©

— (D

(e
®

Explain the following concépts.

- Define conversion and state and expiain the rules of conversion. Explain

with example the converse of 'A" and 'O’ proposition.
What is a definition ? Explain with examples any four kinds of modern
definition. 3 ' :
(i) Free and bound variables l
(ii) = Inference by converse relation and inference by complex
‘zonception ' '
(iii} " Physical and metaphysical division ,
‘What is meani by distribution of a term ? Explain the-distribution of terms
in A, E, I, C propositions with the help of Venn diagrams and examples.
Define Induction and state the characteristics of simple enumeration.
Do as directed :
g @) State the obverse of 'some drinks are intoxicating'.
(i) If'Some snakes are poisonous' is given to be false, what
will be its subalternant proposition and its truth value ?
.\ '(iii) - What is the relation of 'All trucks are heavy Vehicles' to
'No trucks are heavy Vehicles'. '
(iv) State the subcontrary of 'Some modern thoughts are
benificial'.
(v)  Give the contradictory of 'No riots are appreciated'.
(vi) State the logical opposite of 'Narendra Modi is not the
Prime Minister of India'.

CX-Con. 10448-14.
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N.B. : (1) Attempt all questions.
(2) Figures to the right indicate full marks.

1. Attempt the following questionsin two or three sentences’ orﬂy 20

(a)
(b)
()
(d)
(e)
: (D
\v‘v . €:9)

@
)

Write traditional and modern definition of logic.

What is deductive inference? Give example.

What are the kinds of words? Which words cannot become term?

Write the proposition in which both the terms are distributec.

What are the three senses in which the term connotation s used?

Define the law of contradiction. ' :

Identify the kinds of inference involved in the ,ollowmg example

- Heat expands bodies. Hence cold contracts them.

(h)

Define ‘fraud’ as per the Indian Contract Act. (-
What is induction? Define Primary induction.
Define partial disablement. State its kinds

2 Wntc short notes on any four of the followw g:(10-12 sentences) _ 20

(a)

; (b)
(c)

(@)

(e

@

Truth and validity

Proposition and Judgment
Nuisance

Analogy and law

Quality and quantity of proposition
Simple enumeration

3. Attempt any two questlom froma, b, c. : ' 12

(2)

()

Identify, Symbclize and then construct the truth table for the followmg
propositions.
(i) Rajesh is sincere student and he attends lectures regularly.

(ii) 1t and only if you take the medicine, the disease will be cured
Using the Quantifiers and given notation symbolize the following
proypositions. -

(i) Politicians are always ambitious. (Px, Ax)
(i) Mostly educated persons are aware about political system.(Ex, Px)
(iii) Some men are not lucky Mx, Lx)

[TURN OVER
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State whether given statement is true or false with reason.
(i) That animal 1s elephant.- This is ostensive definition.
(ii) Bird means Parrot, Sparrow, and Crow. _This is biverbal definition.
(iii) - “Abute means diminish” is an example of lexical definition.

o
.

4. 'Question ‘f’ isﬂ‘c“gn:pulsoryrgf the remaining attempt any Bt\h're\“e} questions :

Define logic. Discuss its nature scope and utility in law._. :

(b) “What is meant by opposition of propositions? Explain its forms aa d truth value.

(©)
(d)

©
®"

What is real definition and nominal definition? Explain the purposes of definition.
What is the aim of the modern classification of propesition? Explain the
kinds of compound propositions? - :
‘What is meant by logical division? Discuss the all types of divisions with examples.
Do as directed. ; ' o
(i) Afew writers are teachers. (State Certradictory)

(ii) - Girls always obey their parents. ( State contrary)

(iif)- Politicians sometimes speak true. (State Subcontrary)

(iv) Ideal teachers never involve in politics. (Do conversion)

(v) Singers do not eat oily food. (Do obversion) :
(vi) Any member of assembly can attend the meeting. (Do Conversior).
(vii) The logical opposite of “Ancient India is a country which was a

; seat of learning”.
(viii) The converse of “ No virtuous man is addicted to drugs”.
(ix) The contradictery of “some artists are unlucky”. ' .
(x) Statethe sub-alternate, contrary and contradictory of the following
propotion - - _ i a
“All plauctszar,e those that revolve round the sun”.

FN-Con. 4995-15.
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N.B.: (1) Al questions are compulsory.
(2) Figuresto the right indicate full marks.

1. Answer the following questions in tweo sentences. R 20

(a) Whatis valid argument?

(b) Write two characteristics of proposition.

(c) Whatarethe three kinds of words? Which words neverhecome terms?

(d) Writethe example of proposition in which both terms are undistributed.

(e) Identify the kind of proposition and symbolize. "He is either rich or

lucky."

(f) What is Eduction? ol

(g) Define free consent as given in Indian conjtfact Act.

‘(h) Define private nuisance and public nuisance .

(i) Whatis fundamentum divisionis? Give an example. )

(G) Write two characteristics of primary’lnduction. )
2.  Write short notes (any four) : 20

() Form and content of argument. '

(b) Proposition and sentence.-

(c) Denotation and connotatinn.

(@) Simple proposition and compound proposition.

(e) Too narrow and too wide division.

() Simple Enumeration.
3. Attempt any two of the following :- 12

(a) Reduce th;:jfbllowing sentence to logical form and state the destribution

of terms: :

(1) Politicians are rarely punctual in keeping their appointments.
(i) Few farmers are hard workers.
(iii) Teachers are necessarily educated.
(b) /,: (i) Using the quantifiers and given notation symbolize the following
‘ general propositions.
(1) Vegetarians are not always healthy. (Vx, Hx)
(2) Few girls do not like to play mobile games (Gx, Mx)
(3) An animal is useful for human being. (Ax,Hx)

sQ-Con. : 3219-15. [ TURN OVER



©

QP Code : 23583

2,

(ii) Identify and symbolise the following simple propositions.
(1) Narendra Modi is the prime minister of India.
(2) Indian cricket team is better than any other cricket
team.
(3) Yoga is a thearapy.

Identify and symbolize the given proposition construct the- truth
table for it.
(i) Ifand only if you study hard you will become wise person.
(i) Rajesh read the book and composed the story for T.V
serial.

4. Question'f' is compulsory of the remaining attempt any three questions.

SQ-Con.

(a)
(b)

(c)

(d)
(e)

®

Explain four fold classification of proposition_
What is modern classification of proposition? Explain the kinds of
compound proposition.
What is analogy? Explain the factors determmmg the value of
analogy. :
Explain the nature of logic and 1*5 use in Law.
Explain the Immediate inference by opposition of propositions with
examples.
Do as directed
(i) State the obverse and converse - All children like to play
vedio gamts
(ii) State converse and obverse - 'some religious persons are
not faithful'.
(iii) Identify the kind of definition Give reason.
(&) "That animal is an elephant"
~{2) Adam Smith defines Economics as Economics is a
science of Wealth.
(3) City means Bombay, Delhi, Calcutta, Banga101e
(4) Man is a rational animal.

: 3219-15.
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Q.1
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0

Q.2
a.
b.
c.
d.
e.

s

L0211/L0140 LOGIC I

[Time: 3 Hours]

Please check whether you have got the ri
N.B: 1. Attempt all questions. \
2. Figures to the right indicate full marKs

¥ ot

)

Answer the following questions in not more than
Define logic. ,

What is implication? Give example.
Define contrary and contradictory term give ¢
Define obversion. $
State the law of excluded middle.
What is biverbal definition? Give examy
Define terminally ill. S

‘What is primary and Secondary gﬁﬁt&
Define existential proposition, Givetes

Write short notes on any fo
Form and content. PN
Proposition and Judgem

Inference by convegs;é“’liéﬁ%%lé
Rl g el o

Rules and fallacies OmY&S&?H»
Disablement. 7L ¢

., NN /\y%
Opposiion o Sl Pripos

S

£
NP

\
A
!

following definitions and divisions according to traditional
OF YOUr answer.

of parliament.
backborie of order.
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QP Code : 303500
(3 Hours) | Total Marks : 100

N. B. : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.

1. Answer the following in one or two sentences :— o 20
(a) Define deductive and inductive inference. Give example.
(b) What is the copula? What is its function?

(¢) Define singular and general terms. Give example.
(d) What is a propositional function?

(e) Define mediate and immediate inferences.

(f) Define eduction,

(g) State the law of identity.

(h) Define ““free consent”.

(i) What is definition?

(J) What is logical division?

2. Write short notes on any four of the follovvmg - 20
(a) Truth and validity.
(b) Contrary and contradictory ter:ﬂs
(¢) Division by dichotomy.
(d) Disablement.
(¢) Can an ‘A’ proposition be converted simply?
(f) Uses of analogy in law.

3. Attempt any two questions :— 12
(a) Reduce the following sentences to logical form and identify the
kind of propositions as per traditional logic. Name the terms
that are distributed.
(i) Awny person is free to be a member of this library.
(i1), Most Indians believe in destiny.
(iii) Not all films are interesting.
(b) (i) Identify the following compound proposition, symbolise it and
e construct a truth table for it. A triangle is equiangular if and
only if it is equilateral.
(i1) Symbolise the following statements using quantifiers and given
natations.

[ TURN OVER
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2 QP Code : 303500

(1) Artists are never guided by reason (Ax, Gx)
(2) Gentlement are always considerate (Gx, Cx)
(3) Most men are brave (MX, Bx)
(i) Identify the following simple propositions and symbolise them
as per the modern logic.
(1) The drama we staged is a comedy.
(2) Calcatta is bigger than Bombay.
(3) Savitri was pure. .
(ii) Identify the fallacy in the following logical divisions. -
(1) Educated men into well-educated ill-educated and un-
educated.
(2) Christians into those who go to church on sunday and
those who do so on other days.
(3) Statesman into efficient, democratic, imperial and
wealthy.

4. Question number ‘f” is compulsory, of the remaining attempt any
three questions. -

(a)

(b)

Define logic and point out its relation to the sciences in general
and to psychology in particular, Determine the nature and scope
of logic and indicate the uses of logic in law.
Explain the four-fold scheme of propositions and the
distributions of terms n them.
Explain the modern classification of propositions.
What is the difference between inference by opposition of
propositions and education? Explain the process of conversion
and obversiomn.
Define simple enumeration. Explain induction by simple
enumeration.
Do as directed
(i) Find contrary and contradictory of

- All voters are citizens.

-~ {ii) Find subcontrary and subaltern of

Some leaves are fragrant.

(iii) If “All butterflies are beautiful creatures” is given as true, what
can be inferred about the following.
“No butterflies are beautiful creatures.”

[ TURN OVER
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(iv) If “some lions are black” is given as false what can be
inferred about the following?
“All lions are balck”
(v) Give the converse of
“Everest is the highest mountain in the world.”
(vi) Give the obverse of
“Some men are not wise”’.

[ TURN OVER
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[Time: Three Hours]

Please check whether you have got the right
N.B: 1. Attempt all questions.
2. Figures to the right indicate full mark

Q.1  Answer the following questions in not more tha tw Sen

a) Define logic «:g

b) What is deductive reasoning? Give example f’»‘\:

s ¢) What is connotation and denotation of ten:;gi

‘ d) What is Conversion?

¢) State the law of Identity.

f) What is ostensive definition? Give ¢

e S g) Define public and private nulsanc )

h) What is Simple Enumeration? Gl\

i) What is proposmonal functlog?

20

¢) Inference by added\déterinmant &
d) Purpose of deﬁmtlon «»:5

(12)

1gcort pound ,prgpo 1tion symbolise it, and construct a truth table for it. “You
cholarshlpgf and only if you score more than 75% marks

Page1of4
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- b) Explain four fold classification of probos( «

c) Ident1fy the fallacies in the following definitions and division ac
giving reasons for your answer. X

i) Necessity is the mother of invention.

ii) Gravity is a universal property of matter, in virtue of whig
other.

iii) Ignorance is lack of knowledge. ,

iv) Great men into born great, actually great, and those.

v) Seasons of the year into spring Summer Autumn’ar

~ Question ‘f’ is compulsory, of the remamm'g at]
a) Give a definition of Logic and explain the et
nature, and scope of the subject. L

) Explain modern classification of p 'og
d) What is definition? Explain the kln\d
e) What is eduction? Explain tth'prQ
f) Do as Directed: . j
1) All men are poets.

Give contradictory and ¢
2) No dishonest person i

Give sub contra(y and Gon\tradicto
4) No horses are blpe’ S

Page 2 of 4
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[Time: Three Hoursj

Please check whether you have got the right quest
NB: 1. Attempt all questions. '
2. Figures to the right indicate full marks.

Q.1  Answer the following questions in not more than two
a) Define logic
b) What is Inductive reasoning? Give example.
¢) What is positive and negative term? Give examp
d) What is obversion? .y
e) State the law of contradiction.
f) What is extensive definition? Give example;
g) Define ‘consent’, as per Indian Contract
h) What is metaphysical division? Give ey
i) Define analogy. Give an example.
i) Give an example of universal Gener

Q.2 Write short notes on any four,\qf\ / hefol

(20)
a) Truth and Validity ‘
b) Proposition and judgemen
¢) Inference by complex conceptio
d) Any two rules and fall :
(12)

a) Reduce the following’st

the kind of proposition as per
traditional

ing definitions and division according to traditional logicians,

which two persons undertake to become one; one undertakes to
ng undertakes to become supportable,

isonous and crawling creatures.
$nto insured. Non-insured, pedigreed, and non-pedigreed.

43D3C790F696C%1§(?D]3g}gﬁ7BD450DEDC6



Q.4

Question ‘f is compulsory of the remaining attempt any three questiofis
a) “Logic is science of sciences” Explain. Is logic an Art? Is it correc

purely formal and Inductive purely material?
b) Explain the traditional classification of categorical proposition;
¢) Explain the modern classification of propositions. <&
d) What is meant by opposition of propositions? Explain its forn
¢) What is analogy? Explain the conditions of good analog
B Do as Directed: :
1) All metals are malleable

Give subaltern and Contrary.
2) All men are honest.

Give contrary and contradictory.
3) No man is fallible.

Give contradiction and subaltern.
4) Some ideals are not attainable.

Give converse and obverse.
5) No matter is distractible.

Give obverse and converse.
6) Some men are philosophers.

Give converse and obverse.
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Tvits oy i £ 3 e Buen o QI
E‘mwz@;éﬁ; of Mumbai SET3

5 Years Law B.L.S/ LL.B. (Semester - University Exam (June 2022)
Subject: Logic- I

Q.1 Multiple Choice Questions (30 Marks)

1
1.

When a judgment is expressed in language, it is called: /

@@%wﬁwwwa@m 31 TEUTATe,

a. Proposition/ T e
b. Sentence/ qTey
¢. Constituent/ GgIo/h

d. Component/ gces

2. Quantification/ TG
b. Instantiation/ R ARRYIE T

. Mediation/ AeqRf}

d. Deduction/ a7 [H

While drawing inferences from truth or falsity, in case of proposition we cannot say that

the inferred opposite is doubtful. / - _ faum faxrera & e ICRIEIRIN U fqem
SR T ST TR G SRI SR,

a. Contréry/ ﬁuﬁaﬁﬁ%{ '
b. Contradiction/ ATTdS ATy
c

d

Subaltern/ IUTYq favy
Sub—coﬁtrary/ 3 ?ﬂéﬂﬂﬂ faRiey

Converse of " Some students are not hardworking" is o

All students are hardworking/ Ha‘%mffqﬁ%n‘ﬁ 3Ted.

Some students are hardworking/ &Tg} féznaffuﬁamﬂ 3Ted.

Some hardworking people are students. / STal qfeerdt e faemeff 3iTgd.
Converse not possible/ T ﬁm URad R[RT Tt

/o o

The purpose of which definition is to influence attitudes? /

w@mmwm@awwm

a. Persuasive definition/ IR SIRET ‘
b. Lexical definition/ $Ig] qReAT

E950E4CBC6AA533A78AC6CD393B7OE6C
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6.

11.

Paper / Subject Code: 75906 / Logic - 1

c. Stipulative definition/ STHUT ST
d. Extensive definition/ 3Glg<UlIHD

A proposition whose whose truth is known by examining its content is known as L
AU T AT IedT gad WRIEU S 3l Sild.

Necessary proposition/ S{[dRYDH faem
Contingent proposition/ Aftfe faus
Veibal proposition/ &g fay
Real proposition/ dRdd AU

/o oo

Logic is a science. / a#-‘zma %’ Tdh IRA ‘3{1—% :
Formal/ ST®IR® / THRIEAD

Empirical/ SIRIATHD

Normative/ $fHadIal

Applied/ 3 ol

RS =

An implicative proposition is false:/oIX__ 3T R AT fae SR S

a. When both antecedent and consequent are false.
e YaiT d ITRAT 3 S,

b. When antecedent is false, and consequenf is true.

ST AT SR @ AR W SR

c. When antecedent is true, and consequent is false - @a@
g3 qaiT 9 g SR S S,

d. Tt is never false/ < PHaIU S .

Which term is distributed in Particular Affirmative proposition? /

faRy sifErardt faumra UG Ted 3.
. Subject/ 3T TS

a
b. Predicate/ [A9T UG

c. Both subject and predicate/ 3%-‘3 gfaggug
d

. Two Contrary propositions may be___together but not together. / ?f]:f fqodid faidi

AU U d3t 3 X[ GuT Ul dadt 3 X[ TG

True, True/ T, Jd
True, False/ I, 3
False, False/ 3{Hd, 3™
False, True/ S, dd

oo T

"A Square is a four-sided plane figure" is an example of definition.

'FRY B TR O] SRUIRT el 3" & ﬁmaﬂ%

E950E4CBC6AAS533AT8AC6CD393B70E6C
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SN R e -y T TR
Extensive/ 3alg2UllcHd o4l

b. Too Narrow/ A Gl
c. Too wide/ SifacaTa ay
d. Lexical/ IR OIS

12. Contrary and contradictory terms are also called:/ faRieh ug g AT ug I
S1E! WU,

Distributed term/ oI U

Compatible terms/ Jare! U

Incompatible terms/ ﬁwa‘“r g

Undistributed term/ ${eT& U,

/o oonp

13. Aterm is said to be __ when the reference is to all the individuals denoted by the

tenn./waﬁﬁ%ﬁqﬂfmﬂ?aqa 3.
Classified/ a¥fipd

Distributed/ oIt
Undistributed/ 3Tt
Excluded/ STl UG

Ao oo

14. Inductive generalization is based on evidence.

a. Special/ﬁ@i'q
b. Complete/qpf
g
d

. Complementary/ YId
. Incomplete/

15. According to the law of torts there are two kinds of nuisance and oA
Torts TEFUR SUGAR _ * SMfor- 3R S YR SfTed.

2. Common and uncommon/ ITHY, STHI
b. Useful and useless/ m, regantt

c. Public and private/ @IGPH, BIESIEED
_—,;,CL;,,S,p,e/ciaLandgen,e,ral/,,ﬁﬁ[ﬂrﬂlwlﬂl,_ TR S e

16. If “The Earth is round” is false then “The Earth is not round” will be true with reference to the
Law of :/ fARmATER SR gt 1d e, B faur oy s aR-“gedl
el ATE) § a1 9 3. ~ ;

Identity/ 3fTea fraw / arere fad

Contradiction/ SATdTd Ry : '

Excluded middle/ afofaed e / 7 <9 Heg

None of these/ AT Tahg! Ao, i

17. The species into which a genus is divided, is called:/

ST USTE B fAHTSI Sl SiTd &Tell : TEUIdId.

E950E4CBC6AAS533A78AC6CD393B70E6C
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Membra dividentia/ ] 3%6_&5?%& i
Totum divisum/ TIcH i%%!%’!ﬁ
Fundamentum divisionis/ vﬁé?ﬁﬁv‘—i .%%E fﬁ;ﬁﬂ

Class/ T

Ao oo

18. The common attributes possessed by all objects to which a term is applied is called: / ﬁaﬁ

19.

20.

ST T A1 el o1 7 Ty YT FEUTATT:
a. Meaning/ aref : '

b. Connotation/ TUIdR]

Denotation/ 3@13531

el
d. Bxtension/ [d%dR ﬁé?
When an argument is valid and its conclusion is true, it is called a/ an argument. /

WWW%&WWWW@WWWWW
gfaddre Turard. ' .

Sound/ <@
Invalid/ 313¢

Inductive/ U
Valid/ ¢

Ae oo

In inferences, the conclusion is derived from conjunction of two premises. /

W@wmmﬁwwwmaﬁ
Inductive/ ATER

Invalid/ 1%

Mediate/ TafGATH
Immediate/ STAfGATTH

R0 oo

E950E4CBC~6AA533A78AC6CD393B70E6C



Q. 2 Descriptive Type Questions

Paper / Subject Code: 75906 / Logic-I

—L. ; ‘In‘ 'C’as*e‘jhe"’ iC e“i'sft hln—thﬁﬂW@rleH'Skate ':" 2o S ymboltzef’[he*glven*mddem £ pf@pc’slﬁ@‘fl*—iﬁii

. Explain any three features of deductive and inductive argument.

T @ farm s A9 AR g
State any three purposes of definition. / TR CAWRHIIE] %?L[E‘P .

. Explain the three senses in which the term “Connotation” is used. / ‘,!Ulliléfé I <4 31ef i I.

. Identify the kinds of modern definition:/ 3% RS UHR 3T,

a. Virtue stands for such qualities as charity, piety, and justice. /

N0 RIS, T, enfifear o . g
b. Marshall says that Economics is a study of mankind in the ordinary business of life. / HIc]
TR A Waﬁsﬂwaw@wsﬁaﬂﬁﬁawws{maﬁ.

¢. Pain is what you felt when I pinched you. /

ST Hl e ferer HRer et gor ot ares) df e

. Explain, with illustration, any three kinds of compound proposition. /

ol g Ay fgifed snerms R,

. What is Nﬁisance? State its Kinds. / SU%d T80 HT? A TSR 1.

. Do as directed:/ ﬁéQllﬂHl? gIHTd ¢ DR -

a. State obverse of “Astrological predictions are never scientific”. /

" STV SiETet / WTfbal elta dfie e . Ufad oy

b. State the sub-contrary of “Sone musicians are singers”. /

and draw the truth table. (T, S)/ “TR 9% TR 3fd o) STET IH ST H3=.- 1 S{TW
faere fergies 1. Terar groft A

. Define induction. What is primary and secondary induction? /

famaTedt e 1. wfives Siftr g T U SR

9. Explain quantity & quality of a proposition. [AUTTURTTOT 3107 fJe U1 Y DR
10. Define Conversion with proper examples. / 3feId SaTeRUME URATE ST BT .

E950E4CBC6AA533A78_AC6CD393B70E6C



Paper / Subject Code: 75908 / Logic-I

Time: 2hrs & 30 min Total Marks: 75

\ Q.1:- Answer the following in one or two sentences (any six):- (12 Marks)

- 1) What is deductive inference? Give example.

i1) Give any one definition of Logic.

iii) What is universe of discourse of a term?
1v) Define per genus ed differentam definition.
v) What is eduction ?

vi) State the law of contradiction.

vii) Define analogy.

viii) What is proposition function?

Q.2:- Write short notes on any two:- . (12 Marks)

a) Form and Content
b) Connotation and Denotation of a term.
c) Coherence Theory

d)

‘Consent’ as per * Law of Contract’.

Q.3:- Attempt any two questions:- (12 marks)

A. Reduce the following sentences to logical form, identify its kind and name the terms

i

i1;

distributed.
Few children do not like chocolates.
Plants grow towards the sun.

1i1. Certain men are atheists.

B.

(1) Identify the following compound proposition, Symbolize it and construct a truth table for
it:-
He is clever and he is rich.

(1) Symbolize the following propositions by using propositional functions and quantifiers.
(a) All doctors are kind. (Dx,Kx)
(b) No scholars are ambitious. (Sx,Ax)
(c) Lions do not exist. (Lx)

Identify the following definitions & Give reasons to the your answers.
(1) A ship is a prison with a chance of drowning.
(i1) A moral man is one who does not lie or steal or live intemperately.
(iii) The sun is a star that shines by day.

Identify the fallacies in the following logical divisions. Give reasons.
(1) Wars into civil, aggressive and naval.

(i1) Professors into learned poor and popular.

(ii1) Sugar into whiteners and sweetness.

22362 - - Page 1 of 4
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Q.4:- Answer the following questions in detail. Any two from ‘a’. ‘b’ ‘¢’, ‘d’, and ‘e’ is
Compulsory :- (39 Marks)

(a) Define logic and bring out the main features of logic.
(b) Discuss the limitations of traditional classification of propositions.
(¢) Define opposition of proposition. Tllustrate and explain the different kinds of opposition.

(d) Define Simple Enumeration. Discuss its main characteristics and its value.

(e) Do as directed. (13 marks)
(1) Girls always obey their parents. ( State contrary ) ‘ (D)
(ii) A few writers are teachers. (State Contradictory) , (D)
(ii1) No dishonest person is brave. (State Subaltern) (1)
(iv) Some good speakers are not good writers. ( State Subcontrary) (1)
(v) Some books are not interesting. (State Obverse) (1)
(vi) All men are naturally good. (State Conversion) (1)
(vii) Some men are not wise. (State Contrapositive) 3)
(viii) No men are angels. (State Inverse) 4

s ko oo ook ok sk ok o
22367 - Page2 of 4
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YRS Som ——8
;- 2 & 30 ffae 7T oty

T ST 1. WIS Jie T S areTd Sal fofel. 12797

i i A TR T ? SETE .

ii. AehIITETE ST A

i, oo for reve @ 2

iv. TSI o SHeETRISh 46 FOI SAreAT TS S 2
v. T o 2

vi. SATHTdeh faETdiET e i,

vii. ATFRITIHTATET ST .

viii. fre wer RS L

Y SHHih 2. GIaTH ST U (SHIUTdRl 3H). 12777

{) T JATIT AW,

ii) v o7 TR ST e TR,

iii) e ATHsE foEid.

iv) IR HTR HIARTTER AT FE0T 1 T8 b,

T SRHI 3. VIR I 5% i, 127

o, Qi e ohfereia ST 1 ST U SAIea.
i) I AAMT Alsheie ATTed eI
ii) FTEUdie aTe gateAT faR .
iii) forcaes ek Tideh drd.

(i) WA Tk forermie fergienT sheet TeddT qref #ie.

AT qfgmT 37T Ao AT it ATe”.
(i) Eefier faami faegisT w4
1. 99 STa 34763 IHATd. (Dx,Kx)

2. TargTa el aeaTeRialt T9ATd. (Sx,AX)
3. f¥i® T, (Lx)

22362 ’ Page 3 of 4
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. Wledlel ST AIY ST 0 .

i) STETST FEUIS! VAT ST STHUIN FRFTE B,

i) AR 7T STHe T SO, < 7 heomy, TRt e SToTRT o<l ST,
iii) Fd FEUIST fSHT SERTITOTRT AT 2.

€. Qcitel farTeToft / S 3@ o =T,

i) it TR STRAT STIOT A g, Teft forwmrofy.

ii) STeATIsRI T9ETH, TRYe 71T Sveh (S areamaes 27eft o,
iif) WG THAT AT Feear 372 formroff.

T shHieh 4. GIclld T Tfaeat SaL fofeT 357 shifish 30, &, ‘&, S Yol Shivrael I 7107
SlEREEIE , 39 707

o, AR ferem =rquat w7 %,
<. feram forrer <iear=ht SArehelt hrer sTeaafe ST TE ST TR 0T T ST .
3. TS U Y= o RTY WHTT SUhAT $7 .

. GEATHR 9e . (13 marks)
i) ﬂﬁﬁ%ﬁraﬂwmaﬁa@mww (foratra foryer =m) (1)
ii) ma@amm (AT T =m) (1)
iiii) THET THATEI chl YL TEal. (Jursfi forer =m) 1)
iv) IET 3H ach a9 e 31eard 319, (fradia fader =m) (1)
v) T8l T&deh TSI FHard. (Ffaad 2m) (1)
vi) 94 ua feeta: Sirer e, (afted am) ; (1)
vii) el WHE Jfea THard. (Tiafda sfadaam (3)
viii) ToheE! A Sargd erdl. (freeia am) 4)
22362 Page 4 of 4
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Paper / Subject Code: 75908 | Logic-1

Time: 2.5 Hours 75 marks

Q-1: - Answer the following in one or two sentences (any six): (12 Marks)

a. Define inference and implication.
b. Enumerate any two distinction bétween constituent and component.
c.  What is law of identity? Give example.
d. Symbolise the given general proposition: ‘Chankya was a great leader’.
e. What is meant by medical negligence?
f.  What is membra dividentia?
g. State the rules of obversion?
h.  Define synthetic and analytic propositions with example.
. Q.2:- Write short notes on any two: g (12 marks).
a. Positive and negative terms
b. Quantification
¢. Pragmatic theory of truth
d. Analogy
Q.3:- Solve any two questions: : (12Zmarks).

a. Reduce the following sentences to logical form and identify and name distributed term or
terms, giving reasons:
i) Not a single Unicorn is domestic animal.
ii) Rarely musicians are not astronauts.
iif) Lawyers are wealthy persons.

by i) Idehtify the following compound proposition symbolise it, and construct a truth table for
it:

It is false that London is the coldest city and it is in Rome.

ii) Identify and symbolise the following simple propositions:
1. Run.
2. Mohan is wiser than Rohan.
3. Laxmibai was a warrioress.
c. Identify the fallacies in definition and give reasons.
i) A compulsive gambler is a person who gambles compulsively.
ii) Credit is the bond of society. :
iii) Love is the tendency not to hate others.

d. 'Identify the following divisions. Give Reasons:
i) Literature into poetry, novel, short story and drama.

ii) Laptop into display screen, motherboard, RAM, keyboard.
iii) Indians into short, tall, fair, extrovert and introvert.
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Q.4: - Answer the following questions. Question no. 4(e) is compulsory and attempt any two
from (a), (b), (c) and (d): (39 marks)

a. “Logic is the science of valid thoughts”- Discuss.
b. Illustrate with examples traditional classification of propositions.

¢. “Simple enumeration establishes a generalizations on the basis of uncontradicted
experience - elaborate.

d. Discuss the following:
1. Purpose of definition (7 marks)
2. Rules of Logical Division (6 marks)

e. Do as directed.
1)*All illogical persons are despised persons’. (Give Subaltern and Contrary).
ii) Some poets are not dreamers. (Give Sub- contrary and Contradictory).
iii) No umpires are partisans. (Give Sub- 'contrary and subaltern).
iv) Many great scientists are not college graduates, (Give Obverse).
v) Hardly students are logicians. (Give Converse).
vi) Every reformer is an idealist. (Give obverted converse).

3k ok okoskookook ok skook ok ok ok sk ok ok e
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ST WA
;- I a1 30 fufae 75 0T

S SIS 1. WIeler S5 S o foham < s foret (sor wem). 12
i STIHI SATTOT S =it ATt 1.
ii. ¥k FATIOT WIS ATclier 31T ek |,
iii. dTaren FEw i Seretr o,
iv.  “ITOTeRY Wek WET T giar faum fRresifeg 0.
v. Ikl geEr FEu e 2
vi. ‘Membra dividentia’ ¥UTSl 1T ?
vii. Sfdad = fgw g,
viii, HINTOTTeweh forer o fps3yuvrrener foverm ai=ht st &4

T U1 2. Tfery few foren (vt a). 1270

1) WISERIT 3177 31vraesif g
ii) EEATTT

iii) SATIRTRERATaTE Rigia
iv) HRITHH

S ShHTeh 3. TIelel 57 HieaT (HIvael &) 127

i) Thel hIedieh Tk Yt eier urefla STuft T,
ii) YTiHdehR ST T,
iii) SrehIeT T / #fiHid Sieh STHaTa,

o1.(1) Qrefiel W3k foremi femgishT s 3 GeadT arof ST,
“2 U TR T TS oS TR AR 7T A A 7k 3,

(ii) ETeftet g e fegieT &,
1. &ra!
2. T Qe YT fg o,
3. AeHtes foriT Bt
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. WA ST / &Y 73T T a7,
i) T ST WBUIRT AT ST Gsa.
ii) shfee gureT s TR,

iii) S TRV 8N T 90 21,

T SRHI 4. TTeer Feih wferedt 3¢ forer vy s o AR 31T o, @, F, @ Uy
SHIVAET A T Tiea, (39 7Tm)

3. ThRITE I SIS T ST o ay
9. e =g fefe sffentor e
. A T STHATER HTdHehToT Temfirer s Fepseor .
T, gfaeat gL, :
1. ST =, (77T
2. ferarsmre) faem, : (6 TTT)
. YEATER 95 .
i) ¥ 9 S7aTiheh Wi STquTRT Sy STHaT. (ST forrer 1 formdr forer =)
ii) FTeT heft T FHara. (@rferaia fokver 7 cretra frrer =m)
iii) U HEE GEaTelt T (reifanda e o saha kg wmo
iv) S HEH A1 vaderm Toara. (Siferare =)
v) Tormeff Fafera= afde s, (IR =)
vi) SIeish HAIST QeIReh SATaTarer Sy, (a3

K 3 3k 3k 3k ok sk ok ok sk sk ke sk ke sk
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Paper / Subject Code: 75903 / Logic - T QY (ﬂ; J ;Q@ 24,;; &

B K S Serm - __‘,,] | < _
(3 Hours ) = (Total Marks £ 100)
Please check whether you have got the right qu_eé_tié_n __I'mpéi-.' SE 3

1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Answer the following in one or two sentences: ; i < NS {2'“)“ >
a) Define inference, Give example. __ TR SIS S e
b) What is connotation and denotation? |
c) Define proposition. P ]

d) Define universal and e:ustenttal pmpusmun
e) What is immediate inference?: = K

f) Define “nuisance”. Namethe klnds uf' nmsanc&
g) Whatis “dcﬁmendum“ ahd “dni‘nlcns”? S

h) What is division by dmhutom}f'? ; +

i) Define induction.: : VT

i) What is the law of Cﬂnu"admtmn? e

Write short netes on.any fﬂur uf the fnlluwmg 3 ._ e o7 (20)
a) Truth and Vah-:hty < : . &
b) Three purpcrsa uf def’ llll.lﬂl'l
c) Rules and faIlacms of dwmmn
d) Universe of dlscuurse '

S Tutal D:sablema-nt

ot ) S__lmpl__i_:_ enu_m_ﬂratmn

Atternpt an:,r twn quastmns __: : (12)

: e a} Rﬂduce 'EhE-’ fo]lowmg sentences to logical form and identify the kind of

propusmr:ms as pertl:adltmnai logic. Name the terms that are distributed.

1) Everyman is. Ilahle tu error.

u} Many cmzms are presant at the meeting,

111} Indlan studcnts are not generally disrespectful towards their teachers.
h} i) Idr.:-nufy the fullnwmg compound proposition, symbolise it and construct a

truth Table far it. “If there is capitalism, then there will be right to private

pmpcrtjr e
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{i) Symbolise the following statements using quantifiers and give nntatic::ns.- |
1. All people are materialist (Px, Mx) '
2. Some mangoes are ripe (Mx, Rx)
3. Some students are not bright. (Sx, Bx)

¢) i) Identify the following definitions, give m-nsm_]s'i'-*.

1. Knife is an instrument for self defence. - ! S L

2. Houseboat is a boat fitted for living i’ .pli:ﬁ-_;atgr ; :
3. Water is medicine for thirst. Pl
ii) Identify the fallacy in the foIluwmg lngmal dwmons
1. Music into classical, vocal mstrumf;mal and ﬁlm musm
2. The division of cars into timsn: drwan hy tha mmer and those! nnt dnven
by owner. : .-5 : BT : :

3. Literature into pnctr:,r, nmrel short smry and dmma '

4. Question number 4°f" is cﬂmpulsnry of the rcnmuung attempt any three questmns (48)

a) Define logic. Brmg out 'the natum and scupe of. }ug;c Im:lmate the uses of
logic in Law.: Ry e
b) Explain the four f-:ald Euheme: uf pmposmuns
c) Writea detaﬂ::d note on mudcm clasmﬁcatmn n:f pmpnsmun
d) What is meant by “Dpposumn” uf “Pmpusntmn“‘? Explain its forms.
€) What i 15 per: genus—et—mfﬁ:rantm] daﬁmtmn alwa}rs fallacious?
fy. :Du as d1racted ol b
: l) “Few mr:n are ahnwz ternptatmn 2 Gwc Suh contrary.

- -2} “MI whu 'p]‘ﬂl$¢ arc not fr:ends" Gwe Cuntrad:cmnr

) 3) “Eome sclentlsts are’ lmnest i Gwe subaltern,

4) E‘.wr:,r diamunﬁh a prmmus stone. Give contrary.
(°5) All puhuc:ans ara amhm:}us 'Give subaltern.

& 6] A ft:w a{:.tors are successful Give contradictory.

s 7} “Some gases are- nubpmsnnnus ” Obvert.

- E} Sﬂma dmn:mnds are black. Convert.

- "9} ‘Scme rﬂs:dents are citizens', Convert.
‘.lIJ} Snrne fnnts a:e: tasty’, Obvert.

11] ‘h]l lem:uns are sour’, Obvert.

L }2). ‘-‘_Dmnacharya was a great teacher”. Give logical opposite.

60278
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please check whether you have got the right question paper, -
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